Division par Puissances de Dix (])

Trouvez chaque quotient.

6,8638 ~1 000 = 3,9811 + 100 =
7,0153 =1 000 = 1,964 + 0,1 =
1,083 - 0,01 = 49 +1=

9,76 -~ 10 = 25+1=

7,97 0,1 = 1,71+ 1=
6,7793 - 0,1 = 6,28 +1=

5,28 - 100 = 7,4065 =+ 100 =
7,6 -0,1= 495 + 0,01 =
2,6139 - 0,1 = 2,5509 = 0,001 =
5568 +1= 9,085 +0,1=

MathsLibres.Com




Division par Puissances de Dix (J) Solutions

Trouvez chaque quotient.

6,8638 =~ 1000 = 0,0068638 3,9811 =+ 100 =0,039811
7,0153 +1000=0,0070153 1,964 + 0,1 =19,64
1,083 = 0,01 =108,3 49+-1=49

9,76 ~10=0,976 25+1=25

7,97 +0,1=79,7 1,71+1=1,71

6,7793 +~ 0,1 = 67,793 6,28 ~+1=16,28

5,28 +-100=0,0528 7,4065 = 100 = 0,074065
7,6 -0,1=76 4,95 + 0,01 =495

2,6139 - 0,1 = 26,139 2,5509 +- 0,001 =2550,9
5568 +~1=15,568 9,085 + 0,1 =90,85
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